Paper logic

| Data with rReam Offaxis shows larae distortion

7. Simulations match the data and prove that distortion due
+t0 par-ticle impacts on strips MOre wWork

3. Data with £oils show No visikle distortion

4 Sims allow extrapolation to ILC conditions depends
on point 2

5. CONCLUSION: since sims indicate that ILC worst case
Is 3 orders of maanitude petter (in terms of strip hits)
than the f£oil data then Nnothing to worry aeout for ILC

depends on point 2L
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Why Is the greatest distortion In
the near strip for beam directly
at x=y, but greatest distortion

for the far strip when beam is
directed at y=0 ?
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Simulation method

[ Use auinea-pia and GEANT to model ESA module

7. Countt charaes passing Retween upstream end of strips
and use TOF to constitute ripolar sianal

3. Count charaes hitting strips and ejected charaes £rom
all incoming particles and use TOF to constitute Nnoise

4. Apply 8 factor to the Nnoise depending on the anale of
entry of impacting particles

S. Match all data to estarlish confidence in the sivms

b. R.un sims using ILC ream parameters and geometry to
caleulate impact at ILC (and indeed CLIC — EPAC paper)




New sim work — charge density at
upstream end of strips
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